Pre-Calculus 2nd 6 Weeks Test REVIEW



Name__________________
Fill in the chart for the amplitude (A), reflections (R), period (P), phase shift (PH), and vertical shift (VS) for each graph. DO NOT GRAPH.
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Write the equation for each. Use the given point as the phase shift.

	5.  y= ___________________
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	6.  y= _______________
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	7. . y= ______cot_________
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	8. y= _____tan
[image: image8.wmf] ____________

[image: image9.emf]-p

-p

2

p

2

p

-6

-4

-2

2

4

x

y


	9. y=____________________
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	10. y=___________________
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Graph each:
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Matching
	A.  
[image: image22.wmf]sin

yx

=

 
	B.  
[image: image23.wmf]cos

yx

=

 
	C.  
[image: image24.wmf]tan

yx

=

 

	D.  
[image: image25.wmf]csc

yx

=

 
	E.  
[image: image26.wmf]sec

yx

=


	F.  
[image: image27.wmf]cot

yx

=

 


Select ALL that apply. Use the graphs from above to HELP!
	15.  My zeroes are located at 
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	16.  I have an amplitude.  Honest I do!

	17.  My period is 2(.
	18.  My reciprocal function is cosecant.

	19.  I am an odd function. (origin symmetry) 
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	21.  I have a maximum and a minimum value.
	22.  My range is all real numbers.

	23. I have asymptotes at 
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	24.  My domain is all real numbers.

	25.  My domain is all real numbers except 
[image: image31.wmf]/2

n

qpp

¹+

.   
	26.  My zeroes are located at 
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	28.  I do not have an amplitude.    

	29.  My range is 
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	30.  I do not have any zeroes. 


Compute the exact value in radians WITHOUT using a calculator.
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III.
Compute the exact value in degrees WITHOUT using a calculator.
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Complete each statement. 
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Complete each on a separate sheet of paper!
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